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1. In Meiosis, recombination occurs in (B) - Green

-stage. | (C) Red
~(A) Metaphasell ' o (D) Blue

(B) Metaphasel : o
6. Leishmaniaisa......parasite,
(C) Prophasell -
. , (A) -Nematode
(D) Prophasel
. ' : (B) Arthropod
2. Whlch.of the following is used for (C) Human
respiration by marine gastropods ? '
(D) Protozoan

(A) Lungs N ‘ |
(B) '_Gills 7. Amphibiastula larva is present in
' hylum.
(C) Skin - pny
A
(D) Mouth A) Sponges
- ‘ ' . - (B) Insects
3.  WhatareFlamecells ? _ :
(C) Worms

' (A) Excretory cells
(D) Echinoderms
(B) Reproductive celis ‘ :

(©) Respirétory cells | 8. Segmented annelidsare —______..

(D) Secretary cells (A) Pseudocoelomates

T - i . (B) _Coelomatés‘
4. Wh;ch one of the following exhibits .

polymorphism in coelenterates ? © AcqglomateS‘

(&) Physalia | " (D) Bicoelomates

(B) Hydra | 9. Which of the following is a
(C) Seaanemone _ | nematodes parasite ?

(D) Obelia (A) Plasmodium

5. Which colour cannot be seen by B l(B) ‘Liver fiuke
insects 7 ' (C) Round worm
(A) Violet . (D) Tapeworm
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10,

11.

12.

13,

14,

Which of the following are the
two characteristic features of

. chordates ?
(A) Dorsal heart and eucoleomates - _

(B) Triploblastic and ventral nerve
cord '

(C) Triploblastic and dorsal heart

(D) Triplobastic and ventral heart

Blpinnaria larva is an example of
—e class of echinoderms.

(A) Ophiuroidea
(B)
(C) Healothuroidea
(D) Crinoidea

Asteroidea

Amphioxus is an example of

(A) Cephalochordata -
(B} Hemichordata .

(C) Protochordata

(D) Echinodermata

Which_ of the following are flightless
birds ?

(A). Kiwiand Sparrow

(B) Woodpecker and Ostrich
(C) Kiwiand Emu

(D) Ostrich and Sparrow

Which of the following is not the flight

adaptation in birds ? 7

(A) Fusion of bones in birds makes
~ the skeleton light and strong

QS --4A/15

16.

16.

17. -

(B) Fuslon of bones in birds makes

- the skeleton light and weak
(C} Fusion of bones in birds donot
make the skeleton light and
strong
(D) Fusion of bones in birds makes-
" the skeleton heavy and strong
Which of the following type of
dentition is the rule among mammals
based on the Mode of Attachment of

~Teeth ?

(A) Homodont

(B) Monophyodont
(C). Diphyodont
(D) Thecodont

Which of the following is the exclusive
aquatic mammal ? -

(A) Manatees

(B) Hippopotamus

(C) Rhinoéeros

(D) Platypus

Which of the following substance that
is introduced into the environment

 brings about recognizable biological

adverse effect ?
(A) Nonpollutant
(B) Mitogen

(C) Morphogen
(D} Pollutant

( Turn over)




18.  Which of the following hotspot of

19.

20,

21,

biodiversity in India, recognized in
the world and extend into the

nelghboring countries ?

(A) Woestern Ghats

(E) Andaman and Nicobar Islands

(C) National Parke

(D) Sanctuarles

Whiéh of the following animal skin is

devoid of glands ?
(A) Fishes

(B) Amphibians
(C) Reptiles
(

D) Mammals

Chl-square distribution Is used for the

{est of :
(A)  Goodness of fit
(B) Hypothetical value of

pdpulation variance
(C) Both (A) aﬁd (B)
(D) Neither (A) nor (B)
Which of the following is not the
feature of a population ?
(A) Population Size and Density

(B) Population dispersion

QS -4A/15

22,

23,

24,

(C) Locomotion

(D) Natality and Mortality

A group of Inferdependent organisms

_inhabiting the same region and

interacting with each other are

Called oo

(A) Biotic cﬁmmunity

(B) Non-biotic community

(C) Population

(M | Specles

Which of the following two most

abundant gases in the atmosphere

exert almost no greenhouse effect ?
(A) Carbon dioxide and Methane

(B) Carbon dioxide and Nitrous

oxide
(C) Carbon dioxide and Oxygen
(D) Nitrogen and Qxygen

Exarmple of an jawless vertebrate

LTI Wiy it v a e

(A) Hagfish

(B) Rayfish
(C) Flying ﬁsh
(D) Sawfish

Contd.




25, Which of the following statement is

(D)

26.

27,

@

correct 7 )
(A) - Use of morphology to study the
~evolution of organisms is one
of the approaches of molecular
- evolution.
Use of codon to study the
"gvolution of organisms is one
of the approaches of molecular
evolution. |
(C) ~ Use of anticodon to study the

evolution ¢f organisms is one

of the approaches of molecular

_ evolution. |
Use of DNA to study the

‘evolution.of organisms is one

of the approaches of molecular
e_v_c;lutéon. N |
Which of the following is the totality
of the genes of a given population ?

(A)'i Gene frequency.

(B) Genotype

(C) Genepool
{D) Genéfamiiy
Which of the following is the random

change inthe f_fe,quencies of alleles
within a small population 7.

*
(3)
(C)
(D)

Genetic load
Genetic drift ‘
Heterosis =

Homeostasis

QS - 4A/15
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28.

29,

30.

B)

@
- (B)
(©

w
®

fWho has colned Lihre.'fe'r'ﬁi‘ 'I'_‘Vlod:ern

synthesis of Evolution ?
(A) Darwin '
Bateson
(©) Huxley
(D)
Which of the following is the
destabilizing force of Hardy-

Dobzhansky

Weinberg equilibrium ?
Gene isolation
Gene migrétion
Gene élqning

0)

Gene manipulation

“Nothing in biology makes sense
exceptin the light of evolution” framed
by: ‘

Cha_rlés Darwin |

Th. Dobzhansky

T. H.Morgan

-Sewell Wright

(©)
(D)

31. Aspecies means:

(5)

(B)

A) A group of individuals
| A group of populations
(C)

D)

A group of males

A. group of individuals:
producing fertile and viable
offspring

(TFurn over)




32.

33,

(D) Is the process by which foreign

1s the process by which

e s

a genome changes in structure over
time, through mutation, horizontal
sexual

gene transfer and

reproduction,

(A) Genome evolution
{B)' RNA evolution
{C) DNAevolution

(D) ljrot'él"nevolltjﬁon -

isa chem!f*al produced
which changes the behaviour of
another animal of the same spactes

(A) Pherornone .

I}

(B) “Homone

- (C)- :Mutagen -
~{D)" Mitogen

What is transduction ?

(A Isthe process by which foreign

DNAis introduced into a cell by
acell,
(B) Is the process by which foreign
DNAis mtroduced mto acell by
| Iacieria
(C_) | '—'Is the process by wh:ch forelgn
- 'DNAIs mtroduoﬁd mto a cell by
avirus.” ’

- 35.

“* DNAisintroducad into a cell by

a plasmid.

Q8 - 4AN15

(8)

36,

37.

- How much silk can be produced-’by

one Silk Moth cocoon ?-
(A) 100 to 1000 feet of silk

~ (B) 1000 to 3000 feet of silk

{C)y 3000 to 5000 feet of silk

(D) 5000 to 7000 feet of sitkk
What is the major cause for genume
evolution?

(A) Translocation

(8) Duplication

(C) Deletion
(D) inversion.

How many bees may occupy a

“hive ?

(A) 'Upto 70,000 bees

(B) Upto700bess

{C} Up to 7000 bees

(D} Upto1700bees

What is the respiraiofy organ of
eafthworms ?
A) Lung

(B Gill

(C) Skin

... (D) Thorax

39.

The cell wall of bacteria is Cc)mposed_'
of :
(A) Chitin

(B) Murien

(C) Suberin
(D) Cellulose

Contd.




40. -

A method to introduce the desired
gene into animal embryos / cells

(A) Microinjection
(B) <cDNAsynthesis

{C) Gene isolation

(D) Hybridization

45,

41, Atechnique is us'ed to improve the
quality of cattle :
(A) Artificial insemination
(B) Genecloning
(C) DNA'seqLiencEng
(D) Southern blotting
42, Which of the following statement
about succession is correct ?
(A) - Secondary succession occurs
where no soil exists.
(B) Primary succession occurs in
areas where soil remains after
a disturbance.
(C) Secondary succession can
occur where a disturbance has
| left soil intact. - |
(D) Some cases of succession
involve facilitation, a
phenomenon in which Iocal‘
species Inhibit the growth of
newcomers.
43, Functional properties of MDNA
(A) Transcription
(B) Recombination
(C) Replication
(D) Translation
QS —-4A/15

(7)

44,

46.

47.

Wha;/t'is Transgenesis.?

(A} s the process of isolation of an
EX0genous gene

(B) Isthe process of sequencing of
an exogenous gene.

(C) lsthe process of removal ofan
exogenous gene

(D) Isthe process of introducing an
exogenous gene

Cell cycle is controlled by .

. (A) Phosphatases

(B) Cyclins

(C) rRNAgenes

(D) tRNAgenes

Polytene chromosomes are found in

(A) Metaphase |

(B) Prophasel |

(C) Interphase -~ . -
(D) Leptotenestage -

What kind of linkage present in
Drosophila melanogaster ?

(A) Complete in both males and

females

(B) Complete in males and

incomplete in females

(C) Incomplete in both males and
females '

(D) Complete in females and

_incomplete in males

(Turn o.ver)




48.

49,

50.

51.

Genic balance theory of Bridges

means:: '

(A) Ratio of set of sex
chromosomes and sets of
autosomes

(B) Ratio of numbér of X
chromosomes and set of

autosomes

. (C) Ratio of set of sex

chromosomes and number of
autosomes

(D) Ratio of numbher of sex

chromosomes and number of

autosomes

The correct number of human

chromosome was reported by

(A) Painter

(B) Boveriand Sutton
(C) Wilson

(D) Tijoand Levan

Which of the following is the first
seq'uehced eukaryotic organism ?
(A) Drosophila

(B) Yeast

{C) Nematode

(.D) ‘Human®

What is genetic mapping ?

(A). Determination of gene order |

QS =4A/15

52.

53.

: 54, ,

65. .

(B) Determination of gene distance

(C) Determination of gene order
and gene distance

(D) Determination of protein
sequence

‘Which of the following Is an

example for permanent translocation
heterozygosity ?

(A} Drosophila
(B) Oenothera
(C) Wheat
(D) Datura

Meiosis occurs in :

(A) Somatic diploid celi

(B) Reproductive diploid cell
(€ Somatic haploid cell

(D) Reproductive haploid cell

A portion- of the chromosome has
broken off, turned upside down
and reattached, this is known as

" (A) Delstion

(B) Inversion
(C) Translocation
(D) Duplication

Human genome project was

completedin..._____years.
(A 15
B) 20
©) 13
(D) 10
Contd.




59.

60.

Whibh str.ucture serves to facilitate
the flow of signaling molecules
throu‘gh aseries of cells ?

(A) Tightjunction
{B) Gap junction
(C) Beltdesmosome

(D) Lipid

. The division of a eukaryotic cell's set

of chromosomes info two sets, each
identical to the original iS ... eeeee.

(A) - Mitosis

(B) Meiosis

(C) Amitosis
(D) Cytokinesis

Who demonstrated that genes are -

located on chromosomes ?
(A). Mendel

(B) Morgan

(C) Muller

(D) Meselson

lonic balance in man is regulated
by: o

(AY Liver

(B) Heart

(C) Kidney

(D) Pancreas

Master of master gland is :

(A} Hypothalamus

QS - 4A/15

61.

82.

63.

64.

(B)Y Pituitary
(C) Thyroid

(D) Pancreas

. Malpighian tubules are

structures.

(A) Respiratory-

(B) Circulatory

(C) Excretory

(D) Secretory

The functional unit of vértebrate

excretory systemis
(A) Kidney |
(B) Urinayy bladder
{C) Neuron

(D) Nephron

Carbohydrate digestion is nottaking

place in .
(A) Intestine

(B) Buccal cavity
(C) Kidney N
(D) Stomach

Nervous  system consists of
pairs of cranial nerves.

A 14
(B) 8
(C) 10
D) 12

(Turmover)




85,

66.

67.

68.

Which of the following is the correct
primary function of thatevent ?

(A) Exocytosis — the movement of 69.

macromolecules into the cell by
vesicle fusion with the plasma
membrane '

(B) ' Lactation — production‘ of milk

during pregnancy
(C) Osmosis — passive movement
of small solutes across a
- membrane
(D) Testosterone -~ hormone
needed for the normal growth
of female |

The RNA that is covalently bonded to
amino acid is
(A) mRNA

(B) TRNA

(C) {RNA
(D) snRNA

fntrons are the
(A) Coding sequence
(B) Non coding sequence

(C) - Antisense sequencé_

(D) Flanking sequence -

Enzyme that joins okazaki fragment
is '

(A) DNA polymerase |

(B) DNA Ligase

Qs-4N15 (10)

70.

71.

72,

(€) DNAponmerase'lll‘
(D) Topoisomerase
During transcription activation,

binding of — Prevents
inhibitor binding.

(A) TFHA to the TFlID-promoter

cormplex
(B) TFIID tothe TATAbox
(C) TFIIF and RNA polymerase I

(D) TFHHand THIE

Termination codon is
(A) UGG |

(B) GUG

(C) UAG

(D) AUG

‘Whatis a triplet codon ?

A) A sequehce of three nitrogen
bases in a tRNA

(B) A sequence of three bases in
rRNA

(C) The presence of only three
bases in MRNA

(D) A sequence of three nitrogen
bases on mRNA

Hydrolytic enzymes of lysosomes
mainly function at

(A) Acidic PH
(B) Neutral PH

~ (C) Basic PH
(D) AnyPH

Contd.




73,

74.
',_(A) Vector DNA, Metabolic

75,

76.

o)

Most of the mature eukaryotic

mMRNAS have ...

(A) Gat5 endand polyAtail at 3’
end - '

G at 3" end and poly A tail at 5’

end

Poly A tails at both the ends

Do not have any such

sequence at both the ends

(B)

(€
(D)

Tools of Genetic Engineering :

- enzyme, Host cell and DNA of
interest

(B) Vector DNA, Restriction

- 78

enzyme, Hosl cell and DNA of

interest
Vector DNA, Esterase enzyme,
Host cell and DNA of interest

Vector DNA, Hydrolase
enzyme, Host cell and DNA of
interest '

{C)

Proteins are glucosylated in .

R )

(A) Ribosome
B) . Lysésomé
(C)

{D) Piasma membrane

Golgi complex

Choose the appropriate typical

structure of a 5 - 3" eukaryotic

gene ‘ |

{A) 5 UTR - Promoter — Exons
> Introns > 3’ UTR

QS - 4A/15
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77.

79.

80.

(©

Promoter —> 3’ UTR 5 Exons
—» Introns = 5" UTR
5’ UTR - Exons —» Introns —
3’ UTR — Promoter

'Promoter - 5 UTR — Exons
- Introns 53’ UTR

(B)

©)

Which one of the following germ layer
forms the sex organs ?

(A)
(B)
(C)- Mesoderm
©
Vaccines contain :
(A) Cylokines
(B) Enzymes
(C) . Attenuated microbes
D)

Which of the following component not

Ectoderm:

Epidermis

Endoderm

Virulent microbes

involved in animal development 7

(A) Determination
(B) Differentiation
(C) Auxin and Cytokinin
(D) Morphogenesis

Monoclonal antibodies are used to

'detect

(A) Antigén
(B)
(C)

(D)

Gene mutation -
Chromosomal deletion

Mitogen

(Tum over)




81. Choosethe cdrractmatch: - (B) Antifungal proteins

Category | Category Il () AntiT-cell proteins
0 lgA 51) Basophils (D) Antiviral proteins’
(i) “lgE (2) 8heavychain
i) IgG 3) Secretory - 85. _Metamorphosm isa:
component (A) Developmental phenomena
(v) lgM . (4) Pentamer (B) Degradation phenomena

.. . (5) Crossplacenta

A, @) = @), @) - (), (i) - (),
(v)-4) | _
B) () - (3), (i) - (5), (i) — (2),  86. The ig that can cros$ placenta to .

(C) Regeneration Phenomena

(D) Reproductive phenomena

(iv)=(1) | provide passive immunity to the
(©) ()= (), ()~ (3 @)~ (6),  developing fetusis:
(i\!)—~(4) ‘ - (A) JQE}
D i) - ' i)~ (° ] iil) - )
(D) (f) (2), @iy —~ (1), (il)) - (3) ®) IgM
(v)~-(5) '
| (C) G
82. The antigen of blood group ‘A'is ; o
| (D) gt
{A) AB _ . - :
® 0 . | 87. Transfer of DNA from ge! to
S© A | membrane is called
© B . | (A) Northern Blotting
83. Embryonic stem celis are derived (B) Southem Blotting
from e e © (G) Westem Blotting
{A) Innercellmassof blastula ' (D) Eastern Blotting

{B). Gastrulacells

(Ci) Cleavage cells o 88. Human RBC\iswith:
()2 Neuruia cells (") 460hromosomes

‘ B) 23ch |
84. Interferons are glycoproteins which { } 23chromosomes

stimulate the synthesis of . (C) 48chromosomes

(A) Antibacterial proteins . . (D) Nochromosomes

QS -4AN5 . (12) -~ Contd.




89.

90.

91.

82,

93.

(©)

In Honey bees, daughters share
of their genes. ‘

Atwhat temperature the extension of
[DNA stands takes place in PCR ;

(Ay 92°C

(B) 82°C

(C) 72°C

52°C

A common fixative ratlo used for fixing
chromosomes I8 ...~

(A)  2:2-alcohol and acetic acid
(B) 3:1~alcohol and acetic acid
(C) 1:3- alcohol and aéetic acid
(D) 1:2-alcohol and acetic acld

- analytical technique for
separating and identifying mixtures
that are or can be coloured, espaclally
pigmerits,

(A) Gas chromatography

(B) Liguid chromatogréphy
(C) Paper chromatography
(D)  Columns chromatography

The human genome size is

Hirama P

3.2x%108

(A)

Q8 - 4A/15

(13)

04,

95,

6.

- (B)

B) 1.2x108
) 3.2x104

(D) 4.8x10%

Biometrician proposed the variation
as !
(A) Large

Discontinuous
(Cy Small

(D) Continuous

Which is the device using bearm of

. electrons Instead of rays of light to

take us down to nanodimensions ?
A
(B)
(©)
(D)
Where the notachord is prasent in the
larva of Urochordates ?

(A) Head region

(B) Tail reglon

Liguid chromatopgraphy
Electron microscope
Fluorescent microscope

Spectrophotometry

(C) Trunk region

(D) Throughout

97.  Which of the following s the most

primitiye jawed, oldest extant lineage,
living lungfishes ?

(A)
(B)
(€)
»)

Dipnoi
Shark

Rays -
Skates

{Turmover)




98. Which of the followlng combination is | B) (i) - 4), (i) - (6), (i) — (5),

not the poisonous snakes of India ? (iv)~(3)
(A) Russell's Viper, Indlan Kralt, ©) () - (2.). (i) ~ (4), (i) — (5),
Sea snake and King Cobra (V) (1)

(B) Russell's Viper, Bangarus D) @) = (1), (i) = (4), (i) - (7),

Krait, Coral snake and King

: v)—(1
Cobra ' ™ ( )

(C) Pit Viper, Indlan Krait, Python 100. Match the hormones to the glands
and King Cobra | producing them ‘

(D) Saw Scaled Viper, Indian Kralt, - Group ~ A Group - B
Sea snake and King Cobra | () Oxytocin (1) Ovary

98. Match the statistical concepts with (ii) Insulin (2) Pitultary
appropriate example : | (iii) Calcitocin (3) Testes
Group - A Group -B (iv) Estrogen (4) Pancreas

(i} Tabulation (1} "Regresslon ") Epinephrine (8) Thyroid

of data (Vi) Testosterone (6) Pineal
(i) Dispersion (2) Piechart
of data _ : (7) Adrenal
(ii)) Distribution ~ (3) Mean A =G @) - @) () - @)
(W)= (1), (v)=(8), (vi)—(3)
ofdata )
() Statistical test (4) Standard B) () = (4), () - (@), (iih - (),
deviation (iV) —~ (3)r (V) - (7)! (Vi) - (1)
(6) Binomial (C) (i) - (2), (iD) ~ (@), @i} ~ (5),
| ‘ Polsson | (V)= (1), V)= (7). Vi)~ (3)
A () - (5), (il) ~ (4), i) ~ (2), (D) (Y= (1), (i) ~ (4), (iii) - (7),
(iv) ~ (1) R (iv) = (1), (v) = (6), (vi) - (5)

QS - 4A/15 (14) Contd.
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